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91.0kg 94.0m 471 7860 28%3 0453 2.30m 111.4 m/s
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TEXS BEH FEXS B | BF & —E~48 FEXS sebbsy| [ B | B2 (2= 4 B TEXS TEXS AYRZE—R

wH OEW| 1F 91.0kg BH K& | 3F | 94.0m £ B3| 25F| 4M EH BB |3F 7#68 S B3| 25| 28#5 #N/A| 5 B3} | 25| 0954 £H S| 2F| 2.50m H# HMKX|3%F|111.4m/s

8RE B | 2 | 84.0kg A% B=| 3% | 88.0m BT 3E| 4B2 WE BEA|3E| 7TH69 H¥® BA|3FE| 28W8 #N/A|ERE L 3% | 09558 =@ B3| 3%F| 2.50m 218 ##l| 25£]106.2 m/s

WA WE| 25 | 80.5kg mEELTH| 3% | 86.0m % A |3%F| aw2 H® BA|3E| 7TH69 Mk WA |3%F| 2980 #N/A| B R X | 35| 09558 ®E A |3%F| 2.40m R ¥ B5 55 | 22| 105.5 m/s

3% MA| 3% | 70.0kg L@ & | 2% | 84.0m ®E BEA|3FE| 4B2 £ B |2E| TR WmRIEL|3E| 2980 #N/A| i 3 A | 3% | 09568 H#% A | 3% 2.38m 33 A | 3% 105.0 m/s

EE ZRK| 2% | 69.0kg ®RE A | 3% | 83.0m &F Bm| 28| 4W2 &8 BR| 28| 7THT7 WE EA|3FE| 2001 #N/A|E @ Ak | 35F| 0957 INRRAER| 3% [ 2.35m =@ B35 3%]1043m/s

6fii | A% %#| 2 | 67.0kg f£58 123 | 2% | 83.0m WA BK|2E| 4B2 ofl |miE M A|3E| 777 WE BR|2E| 2081 #N/A|BE k8| 3% #N/A 6fi |[x% w=|3%F| 2.30m 6fit | A4t E£4|2F|104.2 m/s
6fi |=3 WE| 2% | 67.0kg #H% A 3% | 83.0m 7 |z B fx| 25| 43 76 |mRIELm| 3% 7880 7 | A% mm|3E| 2082 #N/A| 32 BA | 3% | 09570 6fi [#& M B | 25| 2.30m 76 [fE @ A& | 3% 104.0 m/s
8fii [#% mA| 3% | 66.0kg 8fi |#% WMA| 3% | 82.0m M | &% BE|3%] 493 s |[mm@ Br|2E| 7M81 8fI |mM Ek|3E| 2983 #N/A|EEEZ | 3% | 09578 6fii |RA i 15| 2.30m 8fii [#% w=|3%[101.3m/s
8t |mzmEzn| 3% | 66.0kg ofi |k HHE| 3% | 81.0m ofi |tk HE|3F| 44 of |#Em A#|3%| 7H84 st |=m B |3%| 2913 #N/A| & B | 22| 0958% of |SR% B E| 25| 2.26m ofi [Z=®E 2| 2%100.5m/s
10fiz |8 @ A% | 3% | 65.0kg oft |AH# 4| 2% | 81.0m o | & ® B\ | 25| 4m4 100 | 5% B=|38] 7087 106z |fEE A% | 3%F| 2084 #N/Al R Bx | 22| 058w | [ 106 [ #2 wmA|3%] 2.25m 104z | % B #& 2| 2% 100.3 m/s
106z [#A A& #i+| 3% | 65.0kg 14z | %@\ ®2] 2% | 80.0m of |wm mK|2F| 44 1M | #2 mk | 38| 7888 106 | A 1R #= 4| 25| 20m4 #N/A| %@ B | 25| 058w | | 114k [E% m & | 3%] 2.256m 14 | % E X | 35| 99.4 m/s
10fiz |A{REESE| 35 | 65.0kg 114z | s WA | 3% | 80.0m off | # BI L | 15| 44 126 | IvAEAER| 38| 7896 121z | 3% WA | 35FE| 2996 #N/A| A% w2 | 3% | 09598 114z | 552 &3l | 2] 2.25m 1145 | VikRAER| 35| 99.4 m/s
106 | LR & & | 25 65.0kg 114% |FIERIE~Z | 3% | 80.0m off | LR 8% | 25| 44 1361 | ER F k| 2F 7#97 136 |9 BR|2F| 2987 #N/A| R B & | 25| 0959%) 116 | TR Z /| 2F| 2.25m 136 | K = | 2F| 99.2 m/s
106 |ER1F 2| 15 | 65.0kg 1460 | 2 % % #| 22 | 79.0m ofl |Fmm HmE|1E]| 44 1460 | 2 4% # 8| 25| 8#00 144 |EARMHARR| 22| 2989 #N/Al B "X | 22| 059w [ 146 |\ g2 22] 2.23m 144 |5 B9 15| 98.7m/s
156 | B2 | 3% | 64.0kg 144 | &3 &fd| 25 | 79.0m off [fEm A#@|3F| 44 154 |8 HE | 35| 8wo3 1441 | & # B | 25| 2989 HN/A| o mE | 35| 19008 | | 156 [xE RA | 2] 2.21m 144 |FERIEZ A | 3% | 98.7 m/s
16fi | 2B B M| 2 | 62.0kg 16f | =M B8] 3% | 77.0m ofi |32 MmA|3E| 44 16fi [ % &%= 3% 8®04 166 | @m0 #E | 2| 3080 #N/A|Z=R =/ | 22 ] 19008 | [ 160z |mrELm| 3% 2.20m 166z | B K| 2% 97.5m/s
166 | A # £4| 25 | 62.0kg 174 | A% 2% | 3% | 76.0m 174 | =@ Ak | 3% | 4w5 174 | %@ gE|2E| 8W13 174 | 6 B | 1E| 3081 #N/A| 2 1R #= 4| 22| 19008 | | 166 | # B A | 3%F] 2.20m 176 | #A A # £ | 3% | 96.9 m/s
184 |4 A | 3% | 61.0kg 176 | ER 2 /)| 25 | 76.0m 1761 | H A | 35| 405 18 | # B RA|2%| 815 184 [VHRARR| 35| 3082 #N/A| i e = | 3| 19008 | [ 16t |mm #wa| 3% 2.20m 184 |BRIELMA| 35| 96.6 m/s
184 |@RIELM| 3% | 61.0kg 19 |AA#AER| 25 | 74.0m 176 | # 5 A | 3%| 45 19 | # M@ BR[| 25| 8W16 196 |8 HE | 3% 303 #N/AlmmE #Ea| 3% 19018 16 | H1 @ @8 & | 28| 2.20m 106 | ER1Z | 15| 96.1m/s
20fi |=m BK| 3% | 60.0kg 19 | =% @ A| 2% | 74.0m 1746 | BB 2 /& | 25| 405 206 | & @ & | 28| 8®17 106 |#% #2535 3083 #N/A| 2 mA | 3% ] 19010 166 | & B & | 2% 2.20m 20fi | # M@ B | 25| 95.7 m/s
20z [#8% &3k| 1% | 60.0kg 21 [« B R K| 2% | 73.0m 21 [ KRR | 35| 4me AIEEE A EEIREEAE 21 | =R 2/, | 25| 3085 #N/A| #5 moA | 3% 19020 [ 16t | 2@ =8| 2% 2.20m 21 | &3 &@| 2% 95.4m/s
22fii |mm ®4| 3% | 59.0kg 21 [ IvhEAER| 3% | 73.0m 21 | % E &8 | 2% 46 22 [ BRiR 2| 1| 8W22 21 |G B4 | 15| 3085 #N/AlEm wE | 22| 19020 | | 2262 [ mE #m A | 3% 2.18m 221 | =53 WEB| 25| 95.1 m/s
221 &3 #\m| 22| 59.0kg BREF B | 2% | 73.0m 2 | KK £ | 25| 46 23 | % B+ | 1| 831 23 | =1% =5 | 25| 3006 HN/A| B mE| 1% | 19028 | | 236 [mEEZ /| 3] 2.15m 23fi | B HE|3%E| 94.6 m/s
244 | Bk | 22 | 58.5kg P BE| 3F | 72.0m 21 | AR #= 4| 25| 4w6 240 | A4 £ | 2| 8®36 24 | B Rk | 25| 3087 #N/Al s 2| 1E 19028 | | 236 [+ @£ | 3% 2.15m 244 |53 1@ al | 2%] 93.5m/s
24 |#% M =] 22 | 58.5kg =5 BE| 2% | 72.0m 21 | # ik 2% | 35| 4me 256 |maiEZ | 35| 837 241 | LB &% | 25| 30M7 #N/Alnvthmkes| 3% | 19038 | | 23t |mm ma|1#] 2.15m 254t |AAHAR| 25| 92.7 m/s
INRERAER| 3% | 57.0kg B #EA| 3% | 72.0m 214 |EARHKER| 2| 406 tE &u| 2% 8wa0 244 | #% Bk | 3F| 3087 #N/A| R A B | 15| 19038 BE AH|3F| 2.11m QK #Hi#|1E] 91.5m/s

#i ®mE| 3% | 56.0kg HE BA| 3% | 72.0m 21 |[Fmmigz | 38| 46 Ok M| 1E| 845 2% & | 22| 3008 #N/A| A 8| 25| 19048 A4t £ | 2% 2.10m #wl ww]1E] 91.5m/s
X% ®WE| 3% | 56.0kg BRIZ 24| 1% | 72.0m 214 | BRIE 2| 15| 4Wbe BAWAR| 22| 8W47 A% Z®|3E| 3089 #N/A|ERMAR| 22| 19048 #WI MAw] 1] 2.05m tE s 2% 91.4m/s

A% Z®| 3% | 56.0kg WA ]| 3%F | 72.0m WA #L | 3%F| 47 28 @mA|2E| 8#50 Iz | 35| 3089 #N/A| B A & | 26| 19048 P 52| 3% 2.05m A% Z®&|3%F] 91.0m/s

28 @A| 25 | 56.0kg ARMAESE| 3% | 71.0m Ok BWMi|1E| 487 M RE|1E| 8W50 g EA|1E| 3089 #N/A| 2 % 2% | 38| 19048 8R1% 2.0 | 15| 2.05m FH@ B2 3% 90.9m/s
ENMAR| 25 | 53.0kg Wl W] 1= | 70.0m IZAEA|1E| 487 S0 mE| 2% 8Ws53 BE T#|1E| 3089 #N/A| LB 18 % | 25| 19048 A% Z®|3%F[ 2.03m M == 3% 90.9 m/s

WE KR | 2% | 53.0kg LE &% 22 | 69.0m BE EL|3E| 4U8 HE BA|3E| 8We2 EME &7 | 2| 3180 #N/Al % B | 1] 19048 =B BH | 2% 2.02m B BE|1E| 90.0m/s

E= 23| 2% | 52.0kg A #| 1E | 69.0m S #ME| 2| 4ms A #L|3%| 8W7T5 RE ORA| 26| 3181 #N/A| % &6 1B A | 25| 19058 W% &= | 3% 2.00m 8 A | 3% 89.6 m/s

% % B | 26| 51.0kg M KRE| 1E | 69.0m P 2| 3% 408 WHAEX|1E| 8WT5 A £ | 28| 3101 #N/A| B B2 | 3% ] 19058 E1E 5% | 24| 2.00m =@ & | 25| 89.2m/s

#WL t] 1| 51.0kg #ME BKR| 2F | 68.0m S =% | 26| 418 P BE|3FE| 8WTS Ak | 1E| 3182 #N/A| &1 =% | 2] 19058 EHHAR| 26| 2.00m BE EA|3%F| 89.2m/s
EmERL| 15 | 51.0kg Wi &= | 3% | 67.0m RE A A | 2| 40 = EE| 25| 8wTs ZwAEA|1E] 3193 #N/A| A £ £ | 35| 19058 L& @A | 2% 1.98m =B HmH| 2% 88.7m/s

TR EX| 3F 50.0kg =R M| 2% | 65.0m EH EE|2F| 4¥9 RH & | 2F 893 WA Lt |3F| 315 #N/A| KAH £ | 25| 12058 A &1 |2F| 1.95m ik H/A|3F| 87.8m/s

B RA| 2% | 50.0kg 8R% BEE| 1% | 65.0m B 18K 15| 419 Ak 2E|3%F| 8wWoa fRIZ A | 15| 3185 #N/A| BB T8 15| 19068 # Bt |1%]| 1.95m EM &AW | 2%| 86.8m/s

W WmE| 1% | 50.0kg mA ME| 2% | 64.0m EW & | 26| 419 TR AEEIEEEY HE RE| 2% 3106 #N/A|8RIE 80| 15| 19068 S #E | 2%] 1.95m YE RA|2%| 86.4m/s

EM &M | 2 | 49.5kg ®&| 2% | 63.0m ER g2 1E] 40 BiE 5| 2% 9100 BRE BEE| 1| 316 #N/Al R B3k [ 1E] 19070 EE &% | 2% 1.92m R B A| 2% 85.6 m/s

1@ H%| 1% | 49.0kg FW| 1% | 62.0m A%k ZE|3%F| 580 BRE BE| 2| 903 Wl W] 1E] 3106 #N/Al B W\t ] 1E ] 1907 ZREEE| 3%F] 1.90m % Bt |1%| 85.6m/s

B3 mz| 1= | 49.0ke #a| 2% | 62.0m| [l wme| 15| swo | [kl e x| 15| omo3 o| R B E | 26| 32M0 #N/A|EmEERS| 15| 19089 | |l 23 25 1£] 1.90m byl #Em k| 1% ] 85.5m/s

| 0| % moA| 3% | 48.0ke = Ok| 1E | 62.0m| || e mEm | 25| s | [ Bl Fa|1E] 9wz | o | & | 1] 3200 #N/A|sre iEE | 15| 19088 | [l i A 1E] 1.00m | | LE| 2 gEER| 35| 85.0 m/s
Z 1 B | 26| 47.5ke hAZEA| 1% | 62.0m =g BN |2E| 581 | |Lell ke R 1E] o2 | eE | 3E| 3201 #N/A|hazEx| 15| 19008 | | i i x| 1£] 1.90m 518 =% | 24| 84.0m/s

| 0| @ #@mA| 3% | 45.5ke | ER mE| 1E | e2.0m| [LEi aH ea|1E] 5w | (G ww BA1E] omi9 R OSE[1E] 3281 #N/A| % EA|1E] 19008 =3 EE| 25| 1.90m | || 58 F4| 15| 81.8m/s
Ok Bie| 15 | 45.0ke =% 2% | 60.0m| [k mm EA|1E] 581 =B BM|2%E] ow19 % 25|1F| 3206 #N/A|shE BA|1E| 19108 58 F&|1%] 1.85m =4 #wB| 2% 80.9 m/s

# Bt | 1% | 45.0ke W wB| 2 | 60.0m| [lcwi| i Bk 1E]| 581 17t EEEESAREINEC A E3 EE| 25| 3206 #N/AlmE AR|1E] 19108 W% AH|1E]| 1.85m B sz | 15| 80.9m/s

N B | 2% | 44.0kg W Bt | 1% | 57.0m| |l @B xm| 12| 581 e EIE M| 1E|  9m25 W OAR|1E| 3207 HN/A| 8RS B | 25| 19100 WAEA|1£] 1.83m & is B | 25| 80.3m/s

58 TH&%| 1% 43.0kg EE F#| 1F | 56.0m ﬁEH ER|1FE| 581 HME K| 1F of»29 =R BMH|2F| 3287 #N/A|SH BE|2F| 19108 BH OME|1E| 1.83m fRE BES | 1| 78.7m/s

fRE BEm | 14 | 43.0kg WME AM| 15 | 55.0m| [llbe 58 T 14| 582 %3 BE|1E| ow32 B &k | 15| 3381 #N/AlES BE|1E| 19118 WA WE| 2% 1.80m wm n%E|1E| 77.5m/s

FEA BR| 1F 41.5kg & BB | 2% | 54.0m kel = 1B BB | 25| 583 kol A IREES | 3F of53 AREHES®|3F| 3374 #N/A|BEH WE|1F| 19118 #E HFE|1E| 1.80m CHkal (EREIE R 1E | 75.7 m/s

Bt B&| 15 | 41.0kg % EA| 1% | 54.0m ST EEELIREEE 52t EIIERI IR #E BR|1E| 3304 #N/A| =8 | 22| 19120 8R% BEE | 14| 1.80m ZwAEA|1E| 743 m/s

ME OKH| 1% 41.0kg il EEEIB R | 15 | 52.0m Il R REES | 3F | 583 il R BRE | 15 ofp62 mI BE | 25| 335 HN/A| B HFk|1F| 19128 Civdl R BBE | 15| 1.79m il 78 )I| BE 3} | 25| 73.5m/s

=M #%E| 22| 40.5kg B3| 2% | 52.0m 54t EEEEE IR Ak |1E|  9me9 1w hk|1E| 336 #N/A| B Bm|1E| 191200 | kol m ok | 25| 1.78m Er B&E|1E| 73.0m/s

vl hiE BA| 1% | 39.5kg 5| 1% | 52.0m mm A%k|1E| 504 Ei1E B |28 owT HE BA|1E| 3308 #N/AlsH 2w 12| 19120 M= &K | 12| 1.75m hiE EA|1E| 72.7m/s
Si& % | 2| 38.0kg B5&| 1% | 52.0m il A BEE| 15| 504 #RE BR|1E| W72 &1 B | 25| 3309 #N/A|2EEE| 3F| 19130 WA AF| 12| 1.75m W% AR|1E| 69.7m/s

vl D ARZEX| 1F 38.0kg AFk| 1% | 51.0m wmI BE | 25F | 584 A BE|2F 981 A WE| 25| 34¥5 #N/A| B B B | 25| 1913¢ = ® B |2%F| 1.69m 2H £H|1F| 69.3m/s
%3 B%5| 1% | 36.0kg BA| 1% | 50.0m WA WE| 25| 585 WA BW|1E| 10906 WA km|1E| 3418 #N/A| B R | 25| 19148 E@mERL| 15| 1.65m #HE &= 15| 68.3m/s

vll 1A X3 | 1% | 36.0kg #®R| 1% | 51.0m EBRBRL| 15| 586 EEEEL| 1E| 10919 EBBRL| 1E]| 3587 HN/A| B A WE | 28] 191680 #E &®| 1% 1.65m Wi EA|1E] 67.2m/s
Wi EA| 1% | 35.0ke K| 1% | 48.0m WA KF| 15| 587 WA AW |1E| 10953 R BW|1E| 3606 #N/Al WA Aa|1E] 1M17TH i B[ 1E] 1.60m WA x| 1%E] 61.3m/s




